OETAJIMPOBKA
BUBPOINJIMTDHI

DDE VP60-CK



Ne ApTHUKYI HamMeHOBaHME Kon
1 |vP60-0001 Pyuka BepxHAS 3alyMTHAaS 1
2 Manba 1
3 llarBa 1
4 BoaT M8x25 1
5 Pyuka 1
6 T'arvika M20 1
7 |VP60-0007 Pyuka 3amOHsasa BepXHAs 1
8 |VP60-0008 T'avika—-0apalek 2
9 T'arvika M10 2
10 Bosr M10x35 2
11 |VP60-0011 Pyuka 3aIOHSg HUMXHSS 1
12 |VP60-0012 Bubporacuresbr @J25x43 2
13 lManba 2
14 BonT M12x80 2
53 |VP60-0053 Tpoc raszsa 1
Mogpernb
Bubponnmura 6eHBMHOBAasS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer John

Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
15 |[VP60-0015 Komneco (nocanmka 15wMmm) 2
VP60-1115 Komneco (nocanmka 17, 5MmMm) 2
28 T'arvika M10 4
29 arnba 4
30 |VP60-0030 Bubporacuresr J55x38 4
31 arnba 4
32 arnba 4
33 T'arvika M10 4
34 Pama nBuraTenda 1
35 |VP60-0035 OcHOBaHUE 1
36 |VP60-0036 BubpaTop 1
37 Bosr M8x40 2
39 llamba 4
40 lManba 4
41 BonT M16x40 4
46 lManba 2
47 lManba 2
48 Boyir M8x25 2
49 Boyir M8x25 2
50 |VP60-0050 Bubporacurens @35x15 2
51 Tarika M8 2
52 |VP60-0052 KpoHuwTEMH KOJIEC 1
Mogpernb
Bubponnmura 6eHBMHOBAasS VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
16 llamba 1
17 Bosr M8x30 1
18 llarBa 1
19 |VP60-0019 Mxus (k/B @20MM, 17x730L1) 1
VP60-1019 MxuB (k/B @19vmM, 13x762L1) 1
20 llarBa 1
21 Bosr M8x35 1
22 larba 1
23 |VP60-0023 Koxyx peMHs 1
24 |VP60-0024 Pemenr 17x730L1i 1
VP60-1024 Pemenr 13x762L1i 1
25 [lanesnb 3anHas 1
26 llamba 1
277 Bosr M8x20 1
38 [InacTrHa NPWXMMHAaSA 2
42 |170FTP-K1 IeuraTess k/B @19, 05MMm 1
170FTP-K2 IeuraTess k/B @20, 00MMm 1
43 llamba 4
44 T'avika M8 4
45 |VP60-0045 lnoHka 1

Mogpernb
Bubponnmura 6eHBMHOBAasS VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 3




Ne ApTHUKYI HamMeHOBaHME Kon
1 BoanT M10x25 1
2 Manba 1
3 llarBa 1
4 |VP60-1004 kB BEIOMHI 1
5 |VP60-1005 BaJyl sKCeHTpHUKa 1
6 |VP60-1006 lInoHKa WKMBa 1
7 BoaT M8x20 4
8 1098035 CanbHmMk 35%x48x10 1
9 MlarBa 4
10 |VP60-1010 Kprmka xopliyca 1
11 |VP60-1011 Konbluo yhJIOTHUTEJIbHOE 1
12 (027011 MNogmmnHMK 6211 1
13 |VP60-1013 Kopniyc 1
14 llavba MeInHas 1
15 BonT camBa Macia 1
16 (027011 HomumnHuk 6211 1
17 |VP60-1011 Konplo ynJIOTHUTEJIbHOE 1
18 |vP60-1018 Kprinka kopliyca 1
19 lManba 4
20 Bosr M8x20 4
Mogpernb
Bubponnmura 6eHBMHOBAasS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |01-170-001 T'ojloBKa LUMJIMHIOpPa B cbope 1
2 101-168-002 linunpka kKapbopaTopa 2
3 101-168-003 Brynka @10x14 2
4 101-168-004 [IpokJjlamka T'OJIOBKM 1
5 101-168-005 nmiabkKa ITJITYLUTEJIS 2
6 |LR5YC Ceua sBaxmuraHusa LRS5YC 1
7 [01-168-007 BOJIT TOJIOBKM LMJIMHIOPA 4
8 |01-168-008 [IpokJylamka KJall. KPBIIKY 1
9 |01-168-009 Kpelllka KJIarnaHoB 1
10 |01-168-010 BosiT kJlallaHHOM KPBIIKM 4
11 |01-168-011 Tpybka oTBOHIAa I'as0B 1
Mogpernb
Bubponnnra 6eHBMHOBaS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |02-170-001 IuamuOop 1
2 102-168-002 CallbHMK KOJIeHBaJla 2
3 102-168-003 llarBa ronm OoJT 2
4 102-168-004 BoJsT CHIMBHOT'O OTBEPCTUS 1
5 ]102-188-004 Peyle pmaTumka Macja 1
7 102-168-007 JaTuMk YypPOBHS MacJja 1
9 |02-168-009 llecTepHsa per. OOOPOTOB 1
10 |02-168-010 HomumnHauk k/B 6205 1
11 |02-168-011 Maba 4
12 |02-168-012 BaxmuM 1
13 |02-168-013 Pouar Bajla per'. 0DOPOTOB 1
* 102-170-000 Habop npoxsanok 170F
Mogpernb
Bubponnnra 6eHBMHOBaS VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |03-168-001 [Ipobka (uyr) 2
2 |103-168-002 BoanT M8x32 6
3 |03-168-003 Kprlika kapTepa 1
4 102-168-002 CaJlbHUK KOJIeHBajia 1
5 102-168-010 [MogmmMnHUK KoJieHBajia 6205 1
6 |03-168-006 BryJska 2
7 103-168-007 [IpokJjlamka kKapTepa 1
MonmeJsib
Bubponnnra 6eHBMHOBaS VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
1 04-170-001 Kombuo nopmHeroe Z70x1,5 1
2 |04-168-002 Komblo CcTONOpPHOE 2
3 |04-170-003 [lopmeHs @70x49MMm 1
4 104-168-004 [lajylely NOpHHSA 1
6 |(04-168-0006 lMaTyH 1
7 104-168-007 lImoHKa MaxOoBUKA 1
8 |04-168-008K1 Komenrsasn @19, 05Mm 1*

04-168-008K2 Komenrsan @20, 00Mm 1**
* |ona pgBurarens 170FTP-K1
** \mna pBurartess 170FTP-K2

Mogpernb
Bubponnnra 6eHBMHOBaS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 8




Ne ApTHUKYI HamMeHOBaHME Koxn
5 ]05-168-005 KpoHWTENH KOPOMBICEJI 1
6 |05-168-006 llTaHnTra TOJNIKATEeJS 2
7 105-168-007 Tapejika TOJIKATEJS 2
8 |05-168-008 PoTaTop 2
9 |05-168-009E CTomnop NPYXWHBEl BHII. KJI. 1
9a |05-168-0091 CTomnop NPYyXWHEl BII. KJI. 1
10 |05-168-010 [IpyXMHa KaraHa 2
11 |05-168-011 MaCJIOCBEMHEIM KOJIITAUEK 1
12 |05-168-012 Kitamasel Habop 1
13 |05-168-013 PacnpeneaJg 1
14 |05-168-014 Kopomeicio Habop 2
Mogpernb
Bubponnnra 6eHBMHOBaS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 9




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |07-188-008A BEIKJIIOUATENE 3aXUTaHUS 1
4 |07-168-004 Koxyx MaxoBUKa 1
7 |168F1A Craprep B cbope 1
16 |07-168-016 Pyuka cTapTepa 1
17 |241-604 Ilnyp craptrepa 4,5 MM 1
* |X16011-RK PeMKOMJIEKT cCTapTepa 1
Monmesnb
Bu nnmuT H3MHOBAas
6ponnmura 6eHBMHOBA VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 10




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |08-168-001 [IpokJlamka TeIJIOM30JIaTopa 1
2 108-168-002 TerJon30JaTop 1
3 108-168-003 [IpokJjlamka kapbopaTopa 1
4 108-168-004 [IpokJjlamka kopnyca B 1
5 |08-168KR-005 KapbopaTop 1
Mogpernb
Bu nnmuT H3MHOBAas
6ponnmura 6eHBMHOBA VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTHUKYI HamMeHOBaHME Koxn
10 |10-168-010 [Ipyx1Ha pHYaTra 1
13 |10-168-013 Pouar peryngaropa 1
14 |10-168-014 [IpyXMHa TAITU 1
15 |10-168-015 Tara peryjasaTopa 1
16 |10-168KR-001 [laHesb ynpaBJIEeHUSA 1
Mogpernb
Bu JINT HBMHOBAas
6ponnmura 6eHBMHOBA VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 12




Ne ApTHUKYI HamMeHOBaHME Kon
1 |11-168-001 Kopnyc B/0 1
2 112-168-002 T'avika—-0apalek 2
5 |TJ-GM-031 OuIIBTP BOBIYIIHEIL 1
Monmesnb

Bubpomnnra 6eHBMHOBAA

VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 13




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |15-168-002 MarHeTO 1
3 |15-168-003 Konmnauexk CBeYHOM 1
5 |15-168-005 MaxoOBUK (Py4YHOM CTapTep) 1
11 |15-168-011 KpellbuaTka MaxoBUKa 1
12 |15-168-012 XpamnoBuK cTapTepa 1
13 |15-168-013 Tarika MaxoBMKA 1
14 |04-168-007 limoHKa MaxOBUKa 1

Momesib
Bubponnnra 6eHBMHOBaS VP60-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 14




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |15-188-001P [IlpoBbra Bezobaka J42Mm 1
15-188-001M [IlpoBbra Bezobaka F42Mm 1
2 |114-168-002 OUIBTP TONNMBHEI 42MM 1
4 |14-168-004 Bak TONJIMBHHMI 1
5 ]15-188-005 liryuep 1
6 [15-188-006 Baxmum 2
7 |14-168-007 IlJIaHT TOIJIMBHEIN 1
8 112-168-003 IIymnmMTesb 1
9 |13-168-003 [IpokJjlamka ITJIYyWUTEJIS 1
10 |13-168-002 T'arika 1

Mogpernb

Bubponnnra 6eHBMHOBaS VP60-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 15




